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��� 622.4��.332:533.�7:622.357.� 

#.#. G���
��, !.'. �$��,#.#. ?���=;��, 
�.'. ��
%, �.C. �
�$

��, #.#. +���� 

����
�������
� ������
�
 ������
��� – ���������-
���� ��		���, �������
������ ����
�� �
����
���� 

<���$%
��� ��’%��� ��� ���>���}
��� ���
��
�"�� �
 ���>���}
�
�� ��������� �
 �>����-
�
�� ����"��"��, 
 �
��� ���>���}
��� �
����
$�
�� �>�����
�� ����"��"��. '������
� ���-
�$
� ����
	�
�� ���>���}
�
 ���
��
�"�� ������$�
��� ���
����� �
"���. 

 
FILTRATION PARAMETERS OF A COLLECTOR-UNDERMINING 

ROCK MASSIVE CONTAINED COAL 
Relation between penetrability factor, factors of open and effective porosity, and factor of inte-

gral effective porosity are considered. An example of calculating the porosity factor of undermining 
rock massif is shown. 

 

*�
�A �� �"
��
=	 �
�
� �""$����

�% �
�
������ �����""�� >�$���
��� 
�
�
 � ����
���


�� ��$������
�� �
""��� %�$%��"% ���
�
 �
�
������ ��$-
$�����
, "�����
M��� ���

. &�
�����

� ��$$�����
�� � 
����
���� ���
=-
�� �
���
�� �
""��� "���
F�"% ��"�

���, �
� �
� ���

� �
� ��$
�
F� ��$-
$�����"���� "��A"��
�� "�M�"���

� ����=;
FM��� ��$$�����"��� "��A"��
 
�����	 �����. # ����$��
�� ����
����� �����=, �
$��
FM�� 

� ���
�
�=�
�-
�=� ���$�
=� �$
"��� �
���$��
%F�"%, �
""$
��
F�"%, 

��;
F�"% ���M�

-
��, �"$��"���� ���� ��$������
=A �
""�� ��������
�� 
��=� ��$$�����"��� 
"��A"��
. '����""= �
""$��
�% � ���M�
����
���

�% � ����
���


�� ��$�-
�����
�� �
""��� �
""������� ����
�, �
� �
� �"��=�
% O�� �����= ���$���-
�
������
=�� "��
��

�� 
�������
� ��$����� �
>���
��F � ���M�
��
��-
"��, �����
% >��������"% � ����$��
�� ���
���

�% ���M�
 ���=�
, 
 
� "�
-
��%, � �
��� ���M�
= 
� ��$����= �� ��=�
=	 ���M�
 �
"��$
 ���

 

 �
"��. 
<
���$��
�
�� ���

, ����"	��%M�� ��� 

��;�
�% "�$�;
�"��, ���
�
��"% � 
����
�
�� ��� ��$$�����"��	 "��A"�� (�
�$. 1 � 2). 

# �
������

�� ��"�

��� 
�"��$��� ���$����
F�"% ��$$�����"��� "��A"�-
�
 – ���$����
��"% 
�"�$F�

%, ����=�
% � O>>�����

% ����"��"�� � 
��

��-
��$�
� ���$����
��"% ���
��
���"��. '������

=�� �""$����

�%�� �.�. G�-
��

 [1] � #.E. 4
���
A$� [2] �"�

��$�
�, ��� �
�����
��
���"�� ����
%��"% 
�� $��
��>����"��A �
��"���"�� �� �

��
�A ����=��A ����"��"��. �"�

��-
$�
�, ��� � ����=��A ����"��"�� �
"�� ��� �
��$
�

 �$
��A, O�
 �
��"���"�� 
����� 
�"��� ��$�� �=�
��

=A 	
�
����, �"$� ���"�� ����=��A ����"��"�� 
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����� �"��$����

 ���
�
��$� ��O>>����
�
 O>>�����
�A ����"��"��, ���
-
�
FM�A ��$��� �� ����"��"��, �����
% �
��$
�

 �
���. 

 

&
�$��
 1 – ��$$�����"��� "��A"��
 ��"�

��
 m4Sm4
1 

 ��$� ;
	�= ��. !.+. 4
"%����, 
� 

�
������

��� ���
=�� �=�
����
�� �$
"�
 m3 

 
K  

"��
��
= 

 
D
����
$ 

�$���
 �����
  

��-
$���"

��� 

'���"��"��, %   
�� – ��_ 
"���
%% 

�
�����
��
�-
��"�� �� 

�$
-
"���

�F, �� 

 ����, � ���� 
�"�-
$F�

% 

����=-
�
% 

O>>��-
���

% 

�� – ��_ 
"���
%% 

��-1935 922,8-946,0 5 3,32-
8,89 
5,4 

3,13-
6,15 
4,1 

– 0,01-0,1 
0,046 

��-1922 948,0-991,0 14 4,51-
8,39 
6,19 

4,41-
6,87 
5,38 

1,5-3,85 
2,18 

0,02-0,06 
0,038 

��-1934 1033,0-1037,0 2 6,3-7,01 
6,65 

4,14-
4,65 
4,39 

1,88-2,3 
2,09 

0,04-0,05 
0,045 

��-1918 1139,0-1170,0 6 6,61-
9,29 
8,15 

4,33-
7,99 
6,32 

1,06-
3,48 
2,04 

0,00-0,41 
0,10 

��-1908 1199,0-1219,0 5 4,48-
6,77 
5,89 

3,66-
5,97 
5,10 

0,71-
2,22 
1,44 

0,00-0,06 
0,032 

H���
�� 1040,0  6,46 5,06 1,94 0,052 
 

&
�$��
 2 – ��$$�����"��� "��A"��
 ��"�

��
 m4Sm4
1 

 ��$� ;
	�= ��. !.+. 4
"%����,  

�
������

��� ���
=�� �=�
����
�� �� �$
"�� m3 
 

K  
"��
��
= 

 
D
����
$ 

�$���
 �����
  

��-
$���"

��� 

'���"��"��, %   
�� – ��_ 
"���
%% 

�
�����
��
�-
��"�� �� 

�$
-
"���

�F, �� 

 ����, � ���� 
�"�-
$F�

% 

����=-
�
% 

O>>��-
���

% 

�� – ��_ 
"���
%% 

��-1932 517,0-530,3 2 9,09-
9,63 
9,36 

7,50-
8,84 
8,17 

2,26-
2,95 
2,60 

0,05-0,12 
0,085 

��-1930 710,0-745,0 7 7,49-
9,66 
8,43 

6,44-
7,94 
7,17 

1,83-
2,71 
2,35 

0,04-0,1 
0,065 

��-1937 1001,0-1031,0 4 4,46-
8,33 
6,22 

3,97-
4,71 
4,25 

1,13-2,1 
1,75 

0,03-0,06 
0,0425 

H���
�� 756,0  8,00 6,53 2,23 0,064 
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�$% �������� O���� ��$���
�% �=$� �"��$����

= ����$��
�= �
����� ��-
��=��A � O>>�����
�A ����"��"�� � �
�����
��
���"�� ��"�

���� �� ���

� 
24 ���$����
������
=	 "��
��
 

 ��$� ;
	�= ��. !.+. 4
"%����, �=��$
�
-

=� � '* «�����$����$���%». <���$��
�= 


$��
 ���
�
$�, ��� ����� �

��-

�%�� ��O>>����
��� ����=��A ����"��"�� k�� � �
�����
��
���"�� k�� "�M�-
"����� �
��"���"�� (1), �����
��


% 

 ��". 1. 

 
k�� = e 0,3⋅k�.� – 4,91 .                                                          (1) 

 

0

4

8

1 2

1 6

2 0

2 6 1 0 1 4 1 8 2 2 2 6

� � .� ,  %

�
�

�
, 

�

 
<�". 1 – 4
��"���"�� ��O>>����
�
 �
�����
��
���"�� k�� 

�� ��O>>����
�
 ����=��A ����"��"�� k�.� 
4
��"���"�� ����� �

��
�%�� ��O>>����
�
 O>>�����
�A ����"��"�� kO.� 

� ��O>>����
�
 �
�����
��
���"�� k�� ����� ��� (��". 2): 
 

0

5

1 0

1 5

2 0

2 5

0 , 5 1 , 5 2 , 5 3 , 5 4 , 5 5 , 5 6 , 5 7 , 5

� � . � ,  %

�
�

�
, 

�

 
<�". 2 – 4
��"���"�� ��O>>����
�
 �
�����
��
���"�� k��  

�� ��O>>����
�
 O>>�����
�A ����"��"�� kO.� 
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ln k�� = 1,08⋅kO.� – 5,06 
�$� 

k�� = e 1,08⋅kO.� – 5,06.                                                        (2) 
 
'������
 �

����"�� ��$���

=	 ��O>>����
��� �����$%��� �������$
"� 

�� t – �������F �� >����$� [3]: 
 

t = 
R n – 2 

1 – R2 
 . 

 
# ������ "$��
� R = 0,592, n = 24, �

��
�% t�
"� = 3,44 ��� t�
�$ = 2,821 �$% 

����%�
�"�� 0,99. #� ������ "$��
� R = 0,815, n = 21, �

��
�% t�
"� = 6,13 ��� 
t�
�$ = 2,86. H$����
��$�
�, �"�� �����$%��% ����� �
�����
��
���"��F � ��-
��=��A ����"��"��F � ����� �
�����
��
���"��F � O>>�����
�A ����"��"��F 
(��". 2). ����=�
%, ��� ����� �

��
�%�� ��O>>����
�
 �
�����
��
���"�� � 
��O>>����
��� O>>�����
�A ����"��"�� ��$���
 ��"�
���
� �="���A ��O>-
>����
� �����$%��� (0,815) " �="���A 

���
�"��F 6,13 >> 2,86, >����$� (2) 
���
� �"��$����
�� �$% ����
��
�A ���
�� �
�����
��
���"�� �� �

��
�%� 
O>>�����
�A ����"��"��. &
��� ���
���, �����=� �"�

��$�

 $��
��>����-
"�
% �
��"���"�� ����� ���
��
���"��F � O>>�����
�A ����"��"��F �����-
��$$������� 

�
� ���
�=�
�� 


$�� ����$��
���, �������

=	 � �
�$. 1 � 2, ��� ���
�

= 
�

��
�% kO.� � k�� ��"�

��
 �� ����
����� � ��"$� ����
�����, "�M�"���

��� 
���$���
�% �
�����
��
���"�� ��"$� ����
����� �
 "��� �
���$��
�
�% 
��"�

��
 (��� ���M�
) 
� ����"	����. *"
��
�� �$�%
�� 

 ���
��
���"�� 
�
""��
 ��
�=�
F� ���M�
=, �����=� "���
F� �
����
$�
�F O>>�����
�F 
��"���
�"�� k�.O.� ��O>>����
� �
����
$�
�A O>>�����
�A ��"���
�"��, � "��F 
������� "�$
�=�
��"% �� O>>�����
�A ����"��"�� ��"�

��
 kO.� � O>>�����
�A 
���M�

�A ��"���
�"�� kO.� �$�  

 
k�.O.� =  kO.� + kO.� .                                                  (3) 

 
��O>>����
� O>>�����
�A ���M�

�A ��"���
�"�� ����� ��%�� ������-

���

$�
 �=
��
���A ��M
�"�� �$
"�
 m��� � ���
�
� ���������

$�
 ��M-

�"�� �
����
$
, 

��;�

��� ���M�

�� �� 

  

kO.� = 
m���

 ��
  .                                                      (4) 

 
�$% ���
�� �
�
������ >�$���
��� ��$������
��� �
""��
 ����
���


��� 

���
=�� �=�
����
�� ��M
�"�� �
����
$
, 

��;�

��� ���M�

��, ������ 
��
%��� �"$��
�A O>>�����
�A �
����
$�
�A ��M
�"�� ��" = �� 
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��" =  
m���

 k�.O.� – kO.�
    =  

m���

 kO.�
  ,                                    (5) 

 
���  k�.O.� , kO.� , kO.� – �

��
�% � ��$%	 ���
��=. 

���$���
�� ��"���
�"�� ����
���


��� ��$������
��� �
""��
 �������� 
� ���
�;�
�F �
�$�
�% �
�
 � 
��. �
�$�
�� �
�
 � 
����
���� ���
=�� �
��-
�
�� ��$������
�� �
""��� 	�$, �� �


=�, �������

=� � �
���� [2], "�"�
�-
$%�� 80 % �����"�
����"����, �$�  

 
  	�$ = 0,008⋅γ� ⋅H ,                                                    (6) 

 
��� 	�$ – �
�$�
��, �'
;  

γ�  – �$��
�"�� ���=, �
�

% 1 �/�3; 

 – �$���

 �
$��

�% �$
"�
 ��"�

��
, �. 
'�"$� ����
����� � ���$���
�% O>>�����
�A ����"��"��, �
�$�
�� �
�
 � 

����
���


�� �
""��� 	�.� (�'
) �����: 
 

	�.� = 
0,008⋅γ� ⋅H⋅ kO.�

kO.� + kO.�
                                               (7) 

��"F�
  

k�.O.� = 
	�$ ⋅ kO.�

	�.�
 .   

 
&
��� ���
���, �

% �
�$�
�� �
�
 � ����
���


�� �
""��� � O>>�����
�F 

����"��"�� ��"�

��
, �
$��
FM��� 

� �
��
�
�=�
��=� ���$�
=� �$
"���, 
���
� ������$��� ��O>>����
� �
����
$�
�A O>>�����
�A ��"���
�"�� � �
-
����
$�
=A ��O>>����
� ���
��
���"�� ����
���


��� ��$������
��� �
"-
"��
 

 
k�� = e 1,08⋅k�.O.� – 5,06.                                                  (8) 

 
# �
��"��� ������
 �
""������ "��
��
� �&-332, �������

�F 

 ����
-

�
�=�
��=A 16 ��"���
�A $
��A �$
"�
 m3 ��$������
=A �
""��. �$���

 �
$�-
�

�% ��"�

��
 m4Sm4

1 1190 �, O>>�����

% ����"��"�� ��"�

��
 m4Sm4
1, �� 

����
����� 1,94 % �
�$�
�� �
�
 � �
""��� ��"$� ���	����
�% $
��A �
��% 
"��
��
= (�
��A "��
��
= 1243 �, � 12 � 

� ���$�
=� �$
"��� m3) "�"�
��$� 
2,2 �'
. '� ��$���

� �
�$�
�A � 
����
���� � ����
���


�� �
""��� ����-
��$%�� ��O>>����
� �
����
$�
�A O>>�����
�A ��"���
�"�� 

 

k�.O.� =  
9,52 ⋅1,94

 2,2   =  8,39 %. 

 
'� ��
�
�
�F (3) ������$%�� �

��
�� kO.�  

 
kO.� = 8,39 – 1,94 = 6,45 %. 
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H���
�� �

��
�� �=
��
���A ��M
�"�� �$
"�
 m3 � �����$
	 16 ��"���-


�A $
�= "�"�
�$%�� 1,68 �. 
'� ��
�
�
�F (5) ������$%�� �"$��
� O>>�����
�F �
����
$�
�F ��M-


�"�� ��$������
��� �
""��
, �$% �������� ����� �
""�
����
��"% >�$���
��-
�

=� 	
�
�����"���� 

 

��" = 
1,68

 0,0645  = 26 �. 

 
C>>�����

% �
����
$�

% ��M
�"�� ��$������
��� �
""��
 26 � 	
�
�-

��������"% �
����
$�
�A O>>�����
�A ��"���
�"��F, �
�
�A 8,39 %, �����
% 
"�$
�=�
��"% �� O>>�����
�A ����"��"�� (1,94 %) � O>>�����
�A ���M�

�A 
��"���
�"�� (6,45 %). '� ��
�
�
�F (8) �
""���=�
�� ��O>>����
� ���
��
�-
��"�� ��$������
��� �
""��
 " �
����
$�
�A O>>�����
�A ��"���
�"��F k�.O.� = 
8,39 % � �"$��
� �
����
$�
�A O>>�����
�A ��M
�"��F 26 �. 

 
k�� = e 1,08⋅8,39 – 5,06 = 56,4 ��. 

 
<
��
���



% �������
 �
"���
 >�$���
���

=	 �
�
������ ��$$�����
, 

"�����
M��� ���

 �����$%�� ������$��� �"
��
=� 	
�
�����"���� ����
��-
�


��� ��$������
��� �
""��
, ��O>>����
� ���
��
���"�� k�� � �
����
$�-

�F O>>�����
�F ��"���
�"�� O���� �
""��
 k�.O.�, ���
���
�;�F"% � ����$��
-
�� ����
�����, �"$��
�F O>>�����
�F �
����
$�
�F ��M
�"�� ��$������
��� 
�
""��
, 
���	����=� �$% ����������

�% �
��� �� ���
�
��� �
""��
 "��
��-


��, �������

=�� " �����	
�"��  

��"�����
�"�� ��$���

=	 ����$��
��� ���������
��"% "	�����"��F ��$�-
��
 k��, ��$���

=	 �
"���
=� ����� �� ��$���

� �
����
$�
�A O>>�����
�A 
��"���
�"�� � �� >
�����"��� �


=� ��� ���$���
�� ���


 �����	
�"�
=�� 
���
�
���

=�� "��
��

�� 

 ;
	�� ��. !.+. 4
"%����, �����=� ����
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